40.51:
a) 
EMBED Equation.3
[image: image1.wmf]E

ψ

ψ

x

k

dx

ψ

d

m

=

¢

+

-

2

2

2

2

2

1

2

:

)

21

.

40

(

.

Eq

h


 


Now, 
[image: image2.wmf])

(

2

2

2

h

x

m

ω

Cxe

dx

d

-




[image: image3.wmf].

2

3

but

2

1

2

2

3

:

)

25

-

42

(

.

Eq

3

)

(

4

4

2

4

2

2

)

(

2

2

2

2

2

2

2

2

2

2

3

2

2

2

2

2

2

2

2

2

2

ω

E

m

k

ω

ψE

x

k

x

m

ω

ω

ψ

x

m

ω

m

ω

Cxe

x

ω

m

x

m

xm

ω

Ce

e

x

Cm

ω

Ce

dx

d

x

m

ω

x

m

ω

x

m

ω

x

m

ω

h

h

h

h

h

h

h

h

h

h

h

h

=

Þ

¢

=

=

ú

û

ù

ê

ë

é

¢

+

-

+

Þ

ú

ú

û

ù

ê

ê

ë

é

÷

ø

ö

ç

è

æ

+

-

=

ú

û

ù

ê

ë

é

+

-

-

=

ú

ú

û

ù

ê

ê

ë

é

-

=

-

-

-

-

w




     b) Similar to the second graph in Fig. 40.18.
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